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(kg/ )
9.2E+3 9,170.0 9,170.0
5.0E+2 500.0 500.0
8.6E+3 8,550.0 8,565.0
2.6E+2 260.0 260.0
4.6E+3 4,631.0 4,664.0
6.1E+2 609.0 609.2
8.7E+3 8,682.0 8,682.0
2.2E+1 22.0 22.0
2.0E+3 2,000.0 2,000.0
2.8E+3 2,836.0 2,836.0
3.1E+2 313.0 313.0
4.2E+3 4,200.0 4,200.0
8.6E+1 86.0 86.0
2.3E+3 2,272.0 2,272.0
1.1E+4 10,662.0 10,680.0
2.6E+4 25,843.0 25,843.0
2.5E+3 2,530.0 2,530.0
4.3E+2 434.0 4355
4.6E+2 459.5 1,009.7
4.3E+3 4,343.0 4,343.0
55E+1 55.0 55.0
4.6E+3 4,605.0 4,605.0
1.2E+4 12,200.0 12,200.0
1.7E+4 16,608.0 16,608.0
2.1E+2 210.0 210.0
6.8E+3 6,812.0 6,812.0
4.7E+0 47 47
1.0E+2 100.0 100.0
9.7E+2 970.0 970.0
1.3E+5 129,967.2 130,585.1
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